140, 130, 140 model

All elements matched to demonstrate the validity of the
model.

S is the summing node of the power splitter/combiner.
RXtop and RXbot feed the window comparators

R14
70 i,& R15 AN 10 feet 1300hm/2
AN RXtop AMN-140
\top

{
% \LOSSM
_/

o

NNNT

(
%

7
TXto -
Vi 0 TX3

K3019PL_3C8

50 feet 1400hm/2

Length in meters,
Capacitance in Farads,

Turns Ratio Inductance in Henries
0 R16
70 if R17 1E6 Z0=50=> {C=101.08pF/meter, L=252.7nH/meter}
RXbot Z0=65=> {C=77.75pF/meter, L=328.51nH/meter}
N—————— ~140 )
W A W 3 Z0=70=> {C=72.2pF/meter, L=353.78nH/meter}
INbot JBbot ‘ Z0=80=> {C=63.175pF/meter, L=
L - 404.32nH/meter}
<
?
47 10 feet 1300hm/2
V2 0 K3019PL 3870
Turns Ratio
0
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